Homework Quiz 1B, 8 Sept 2023 _ : 3 LI = S MA 131M

- 1. Find an equation of a line in the form y = mz + b which passes through the points
- (2,9) and (-1, 3). e i :
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5. Convert Sm to degrees.
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6. Evaluate the following:
4o () sin@@r/4) | / /2
%'p (b) cos(60°) ) /2
172 (©) tan(2n/3) i

7 Below is a unit circle. Put your answers next to the corresponding points on the unit
circle. '

N 2(a) Point A corresponds to what angle in degree measure?

rz (b) Point B corresponds to what angle in radian measure?
e 7/(0) What are the coordinates of Point C?
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